DO NOW

Solve 4 =3¢-0.2

H+02= 3t
4,2=3¢

Eliminate Parentheses - F|RsT and S{mp\iﬂ eadn side

**Look at what is directly in front of the parentheses

. + — dwopthe parentheses

L distribude 1
B+ (x+2D
2. — —=0lrop the (O chance sign
> a;sgr\buk -1 d /D@M
3-(x+2)
3. # — distribude
3+
3. Tx-(6x-5)=7 4. 4c+1)=32
Mx—by+ D=7 Uerd =32
X +35 =) LIC,:_?>1_L{
% =72 T

S =

o‘p eié{’)

1h ‘f‘B\¢+ O\,

2.1 Solving Linear Equations - Day 3

2 IS
like terms - Same "Last name

~ EXACTLY +he same Varicble(s) and enpanent(s

Ex: 2% ond ~Hx

T oand 3B
unlike terms - ch ferent

Uoriables and|or oxp sneits

Ex: Hyx ond b
“Im ond BN

Practice:

1. 2x+3x+4=-6

bx+H=-b

5x =—b—H
By = —(O
v="T%

5.50-2(t-5)=19

2. 15m+(4-9m)=-32
(5m +H —%m =—32.

bm +H =-32

bm=-32-4
lom=-3206
e

6. 8y-(57+2)=16

5£-2b+ (b=\Q 8\1_5sz;((6
3c+10=19 3y -2=lb
3—t‘:(q~lO 3\;:1(9-1—2
3t=9 3y=1T
b= =3
=
che

ke 3y -(6y12) [ 16
IW-6W+2)] 16
U —(26+25| o

Uz—32 | b
16 |16V




8.3(a-5)-22a+1)=0 HOMEWORK

7. 27x-3(x-6)=6
do—-15-Hq-2=0

VI -3x+18 =0
24y +I8 = 6 —o-=0
2ux=6-1% Sotiaenl Worksheet HW 2.1 - Day 3
_ —o=17 orksheet 1 -Da
24y = (\%— - '
Y=g -
H o= -1

=1
X =72



